M. Aldulla Plotting a Ration Function 1 oct. 23. 2011 $f(x) = \frac{(2x+1)}{\chi(x+1)(x+2)} \leftarrow \frac{\text{Plattin}}{\text{Plattin}}$ QEX#1: Step#1: SFrielthe Verticel Asyptotes (V.A.) $\mathcal{X}(x-1)(x+2) = 0 \implies |x=0| \\ x=1 \\ x=-2 \\$ <u>Step#2</u> Fril H&ightel Asyptic (H.A.) & Obligne Anyptote (O.A.) $f(x) = \frac{N(x)}{d(x)} \xrightarrow{k \to d_{1}} \frac{1}{x} \xrightarrow{j} \frac{1}{\sqrt{2}} \xrightarrow{k \to d_{1}} \frac{1}{$ Step#3 Perform varion limits to figue out bow toplet this Retoil function.

M. Aldella oct -23.2011 (V.At V.A. #3 h OK lin 6(x) = lin (2x+1) = lin (2x+1)/x x-3-0 7(x-1)(x+2) 7-3-00 x(x-1)(x+2)/x lin (2x+1)/x 10 $\frac{(2+1/x)}{(x-1)(x+2)} = \frac{(2+0)}{(-\infty)(-\infty)} = \frac{2}{\infty} = \boxed{0}$ 2-2-00 20 $= \lim_{x \to \infty} \frac{(2+1/x)}{(x-1)(x+2)} = \frac{(2+0)}{(ab)(ab)} = \frac{2}{ab} = \frac{10}{ab}$

M. Aldulla 3 oct. 23. 20/1 $\frac{3}{2} \left| \lim_{x \to -2} \frac{b(x)}{x \to 2} = \lim_{x \to -2} \frac{(2x+1)}{x(x-1)(x+2)} = \lim_{x \to -2} \frac{(2)(-2)(-1)}{(x+2)} + \frac{b(x-1)(x+2)}{x \to -2} = \lim_{x \to -2} \frac{(-2)(-2-1)(x+2)}{(-2)(-2-1)(x+2)} + \frac{b(x-1)(x+2)}{(-2)(-2-1)(x+2)} + \frac{b(x-1)(x+2)}{(-2)(x+2)} + \frac{b(x-1)$ $= \lim_{x \to -2} \frac{(-1)}{(-1)} \lim_{x \to -2} \frac{(-1)$ $-\sum (ane \#] : \left| \begin{array}{c} h_{i} \\ x \rightarrow -2 \end{array} \right| = \left(-1 \right) \left(-1 \right) = \frac{1}{2} \left(-1 \right) = \frac{1}$ $- \sum Cane # 2! \left[\frac{1}{x - y - z^{t}} - \frac{1}{y} - \frac{1}{z} - \frac{1}{$ $\frac{4^{\circ}}{x \to 0} \frac{1}{f(x)} = \lim_{x \to 0} \frac{(2x+1)}{x(x-1)(x+1)} = \lim_{x \to 0} \frac{(1)}{x(-1)(2)}$ $= \left(\frac{-1}{2} \right) \lim_{X \to 0} \frac{1}{x}$ $-\partial \operatorname{Caue} \# I: \left| \operatorname{Lin}_{X \to \overline{0}} f(x) \right| = \left(-\frac{1}{2} \right) \left(-\infty \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) \right] \left(-\frac{1}{2} \right) = \left[\cos \left(-\frac{1}{2} \right) = \left[-\frac{1}{2} \right] \right$ \rightarrow Care #2! $\int c_{x \to 0^{+}} f(x) = \begin{pmatrix} -1 \\ 2 \end{pmatrix} (\alpha_{0}) = \begin{bmatrix} -\infty \\ -\infty \end{bmatrix}$

M. Aldulla oct-23.2011 $50 \lim_{x \to 1} f(x) = \lim_{x \to 1} (2x+1) \\ x \to 1 \quad x \to 1 \quad x(x-1)(x+1) \\ = \lim_{x \to 1} (2x+1)(x+1) \\ = \lim_{x \to 1} (2x+1)(x+1) \\ x \to 1 \quad (1)(x-1)(x) = [x+1] \\ x \to 1 \quad (1)(x)(x) = [x+1] \\ x \to 1 \quad (1)(x)(x) = [x+1] \\ x \to 1 \quad$ $- \sum Cane #2! \left| \lim_{X \to 1^+} \frac{f(x)}{x} \right| = 1 = 1$ Stop #4 Sto $f(x) = \frac{(2x+1)}{x(x-1)(x+1)} = 0$ Now, we have all the composets receiving toplat the function chark P. 2

M. Aldulla Oct. 23.2011 € $\frac{1}{2}$: $\frac{1}{2$ Step#1: Fiel H.A. X-3=0 - 2 =3 Step#2 FrilV.A. D.O.A. $\int (x) = h(x) \leftarrow \delta dn = 2$ $d(x) \leftarrow \delta dn = 1$ $d(x) \leftarrow \delta dn = 1$ $d(x) \leftarrow \delta dn = 1$ Perform long - durin; (3x2+2) 2-3 $(3\chi^2 - 9\chi)$ 3×+9 31+2-31+92 - (9x+2) - (9x-27) 9×+2 ××+27 29 $f(x) = \frac{(3x^2 + 2)}{(x-3)} = 0$ 3x+9)# *

M. Aldulla Oct-23.2011 Let's cherk if (in inless covert, $(3x+9)(x-3)+29 = 3x^2 - 9x+9x - 27+29$ $(\chi -3)$ (2-3) V quest (30) $= (3x^{2}+2)$ (2-3) \$ O.A. , illustrate 3x+9 = 3(x+3)18-17 H.A. $\frac{1}{2} \frac{1}{x=3} \rightarrow (3)(3) + 9 = 9 + 9 = 18$ 3(x+3)=0=> => ====3 a.A. 6 4

M. Aldulla Oct-23. 2011 17 Sty #4 take warm related limits $\frac{10}{x - 50} = \lim_{x \to \infty} \frac{(3x^2 + 2)}{(x - 3)} = \lim_{x \to \infty} \frac{6x}{(x - 3)}$ = (6) (- 00) 1-00 2° lin b(x) = lin 6x = (6)(00) = 19 x > 10 $\frac{3^{\circ}}{2}\left[\lim_{x \to 3} \frac{f(x)}{2} + \lim_{x \to$ $\rightarrow Care #1: [in <math>f(x)] = (29) -1 = -29$ -> Care #2: lin b(x)= (24) (+1) = 100 f(x) = 0 - 1> get "" 3 tep # 5: $\frac{(3x^{2}+2)}{(x-3)} = 0$ $3\chi^{2} + 2 = 0$ 372=-2 22=-2 Notin IR $x = \pm \sqrt{\frac{2}{3}} = \pm \sqrt{\frac{2}{3}} \frac{1}{3}$

